4G22 35 SFTRKEFFARTEP &4
Sz p #p 1 113.11.19
B 5L P3P T B Ig #2r
RAEFDLRMF R~ 2 F7
1139 * 926 B(éﬁpw)?frm‘r*l?ﬁ%é% hE A ~
D liiis 1pamry [Apan iy ogsfTHRAZFTHRTE
HEF A B RR o
ARFFEF 22 B0 $4K
2 HSEIIEMB(&ﬁ:)@%% F v SRR BRI R EPE Y
REFABEEHERDE
KEF AP m% 1 4R g
3 |[114&1* 2p (ﬁ—_,ﬁﬁl) Pi H-p\AE'u‘ f# 1F$ufi %ﬁv: @f_/;ﬁ-a‘zgrg v
PAEE 2 AR Y A o
1.8
LF R TES R
17 13p(EE-)
ﬁL‘F:@]i\:‘ J\i@t’
1216 p (28w
RS PR scfn 4 BT £ 4] R ,BE:, )
. E ZRBdE
T R(PEL A ) £ i
114 & 17 13p (8- f iféhi ) mfﬁ?% 1721 p (=)
d 1 ame) EH FE NS R RRITES S % FE R AR
B U s peranes cmgal T
P e 19 22p(ad=)
AR TR 2 =
o e 2.FBEERFE
EA AR IEERD -
(DL * 18 p~17% 20 p &ip
(2)1 % 20 p tR#EFN
(312 21p~2" 10p FiE
1" 27 p (E¥H-)-1"1 31
P(EPIHFTFRE-
1M&1923M&$m>§{&iAP&@LMW%L .
i Y FE R LR T AR B OF PR
19 B B PR P R R FRA(FHRTIP) -
[.>2 ¢ % v Ay ¥
¥z ?r,'%i % iﬁ 2 ;}*Ef‘ﬂjj:’;; ’ EURES AL DERCE
£9 1 5 P — o AR L : -
6 114 &2 7 3 p(x )2'[&] CE N E bri i GE%https.//gepln.hhsh.chc.edu.
i1 e tw
4§ °




B 5L

P P R

TER I

114 # 2% 4 p(E8®H=)

FF /\H%'?IFH’_" }gigﬂ:;,']" ;
TR LXAPMED 2 F ket 2

s
LY A 114 # 27 12
(B = )T xhprum b g
WEOR

2. WEF AN BRITE ko kL rb

7 512 p (B HZ ) R
227 12p(28=2) Ty https://gepin. hhsh. che. ed
u. tw
3.2% 8P (B )Mrro
A BEPp 2" 11p(adho)e
LERATZFPY /0K
22 G 2 s §;7’§§’f’i‘%:&114-&2’9199(§_ﬁ?3>
11427 130 (BHw)| #FlE im0 340 & "W'Ji"?”f?”'ﬁ’?“' FRELR
S lier9namz) )¢ E Kimgga-
2.ERLBHRFTEF LY 4
A Bk i o
L Rz BRERPINE F 53304
BER 11472 24p (&
B-)TE 5 R A AL
e g2 TALE I 3 Y
LT pE A BRITE K A
PET (R REPF) -
LEWFD 22 ER(P)ZERD 3457 2 £ 2 (5 )= & k>
FY AT LA BN 114 20 20 p(EHw )N
114 # 27 20p(E8hw)| 4o o dEY A FRE A p s
) 221 26p(EEH=) 2. bihY HFHI AREN kY MEhot i g M 1l4E
T (2 E) . | 27 268 (AWz)Y E 12p
B FPE L EER
BB (14727 26p (2%
Z)TEHENm AR K
EF % 2 *:}‘i,’ﬁ Foyor g
FER(ETF LEBMER)
I REFABITE i P
Eo
10 114229 27 p(agpe) iﬁl?{ﬁ#;@ FEREATEL S B R
FETE 2.228% A P27 28p (A7 )o
114 % 3 7 3 p (a9 -)|R#EFmme &ﬁmﬂfflﬁim”f*"‘fi:%ﬁ
1 233 4p(REP-) ¥ 2.REHPITE T ERATE

PORE T R h o




B 5L

P P R

TER I

i

114 # 3% 6p (2w )-

114# 32 6p (2He )t =10

12 3% TPp(E#HI)? = 12 BaF 225 1 TR ITE A | o 2050 30 4 BT g kot
B 1 2R SN - < b 114&# 32 Tp(RET)
P R2EEkFERRE L -
KiF Aol es 2 4 f ¢
13 114# 37 11 p(AH =R % | T FEAE L 8 B2 k93 ¢
H3F o
L2 A TR we
ABgefr e Z20 30 17 p
(Bf- )P = 12w =
114 # 37 1Tp (E¥#-)] =FHF -
1 W ]2 B 2. L N E-B B AR T K
LH 30 17 p(EE-)
¢ 12 EFrrn B E ¥ SR
IEKERF -
114 # 3% 20 p (Efpe )t =
FFF 22 % 2R DG EA|10 prrsas & 2 0 gfr 4 Fhiv
15 nm&sgma(&ww>%Zj?; . 3£Z$;155§;§?§§
FEL o
e g me g
16 (114237 2T P (hfpe )| R % 2R NIFTEABERE
#IE o
L2 i gkl we E 4%
2 = A B-kprr F4t 30 31
P(EY- )P =2 s %
7 114# 37 31 p(h#-)| =45 -
#ox]2 P 2. & A BB A AR B K L
331 31 p(hafh-)? =
12+ @3 5 348 3 W%k
%z o
18 umagawB(&$:>ﬁWﬁ%ﬂ‘5%4'“zﬁga%:wigwsﬁ




